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Question Id : 6863403132 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension



Read the following passage and answer the next five questions by choosing the correct options:-

Kalidasa's status as the major poet and dramatist in classical Sanskrit literature 18 unquestioned. once: when
poets were counted. Kalidasa occupied the little finger: the ring finger remains unnamed true to its name: for
his second has not been found.

That 1s high praise. Kalidasa's accomplishment 1s distinguished not only by the excellence of the individual
works, but by the many-sided which the whole achievements displays. He 1s a dramatist, a writer of epic and a
lyric poet of extraordinary scope. In his hands the language attaind a remarkable flexibility, becoming an
instrument capable of sounding many moods and nauaces of feeling: a language that is limpid and flowing.
musical, uncluttered by the verbal virtuosities indulged in by writters who followed him: yet, remaining a
language loaded in every the rift with the rich ores of the literacy and mythical allusiveness of his cultural.
heritage By welding different elements to creat new genres, his important as an innovator in the history of
Sanskrit literature 1ts clearly eastblished. The brilliant medieval lyric poet, Jayadeva, in praising Kalidasa i-
kula-guru (master of Poets). Conveys his recognition of this aspect of the poet greatness. Bana. the celebrated
author of the prose-romance kadambari exclaimed.

Who 1is not delighted when Kalidasa's perfect versel spring forth their sweetness. like honey-filled cluster of
flowers?

Thus drawing attention to the exquisite craftsmanship of the poet's verse for nearly two millennia. Kalidasa's
works have been read with deep appreciation, widely commented upon and lavishly praised. It would be safe
to assume that the poet enjoyed success. fame and affluence during this lifetime. We sense no hint of
dissatisfaction in his works, no sign bitterness at not receiving due recognition. Yet, we do not possess any
information about him, his life and the times in which that life unfolded and fulfilled itself. All we are left with
are a few legends. The poet has drawn as veil of silence round himself so complete that even his real name is
unknown to posterity.

No name is affixed to the poems and epic: they have come down to us virtually anonymous. What information
we possess 18 dertved from references to them by later poets and writers and the commentaries written on them
and from inscriptions. The name is met with only in the plays, where in each prologue. the author styles
himself as Kalidasa. Like others in Sanskrit literature. this name is descriptive: Vyasa. meaning 'the compiler'.
18 the author of the Mahabharata, Valmiki. 'he who emerged from the antlul (valmika): of the Ramayana
Similarly Kali-dasa means the votary or servant of Kali 1s time in the feminine (Kala is time); the concept of
times as creative principle i1s an old as Vedas. "We can then translate the name Kali-dasa as 'the sevant of time',
a phrase that prompts us to explore its significance.

Sub questions

Question Number : 1 Question Id : 6863403133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the main idea of the excerpt?

—_

. The mystery and obscurity surrounding the name and life of Kalidaza

| )

. The exploration of the literary and mythical allusiveness in the language of Kalidasa
3. Presenting Kalidasa as a supreme innovator

4. Appreciation of Kalidas's distinguished stature as a dramatist epic and lyric poet

Options :
68634012401. 1



68634012402. 2
68634012403. 3
68634012404. 4

Question Number : 2 Question Id : 6863403134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements are true, with reference to Kalidasa?
1. his language is enriched with the literary and mythical allusiveness of his cultural heritage

2. He can be called an mnovator in the history of sanskrit literature he welds different elements to create
new geures

3. He was a dramatist, an epic and literary poet of extraordinary scope

4. The bitterness and dissatifaction of not having been adequately recognized in the works of the later
period

Options :

68634012405. 1
68634012406. 2
68634012407. 3
68634012408. 4

Question Number : 3 Question Id : 6863403135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kalidasa's is "a language loaded in every rift with the rich ores of literary and mythical allusiveness."

The literary device used in the underlined segment is:

1. Imagery
2. Asyndeton
3. Personification
4. Metaphor

Options :

68634012409. 1

68634012410. 2

68634012411. 3
68634012412. 4

Question Number : 4 Question Id : 6863403136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II based on the information in the passage:

LISTI LISTII
A |Valmiki-"he who emerged from the authill” 1. |The author of Mahabharatha
B. [Javadeva-brilliant medival lyric post II. |Anonvmous works
C. [Kalidasa-"The servant of time"-Master of poets | IIL. |[The author of prose-romance Kadambari
D. [Vvasa-the compiler IV |The author of the Ramavana

Choose the most appropriate answer from the options given below:

1. A-IV, B-II, C-III. D-I

[ )

CA-TV, B-IIIL. C-I1, D-I
3. A-IV. B-IIL C-I. D-II
4. A-I. B-1I, C-IV, D-III

Options :

68634012413. 1
68634012414. 2
68634012415.3
68634012416. 4

Question Number : 5 Question Id : 6863403137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT to highlight trhe savant features of Kalidasa's age

LISTI LISTII

LA n innovator who joined or

A |Uncluttered by verbal virtuosities I. |amalgamated different elements to create new
geures

B. [Literary and myvthical allusiveness II kahdefsa_ 3 persovial KIS ot revesied i
posterity

o el o sifeics rond hisele 1L Free of the excessive culture and display of
verbal skall

D. [Welding different elements to create new geures| I'V. ifaiz;zi:;ence e e

Choose the most appropriate answer from the options given below:

1. A-IV, B-II, C-III. D-I

[ ]

CA-ILL B-LL C-IV, D-III

L]

AL B-IV. C-I1L, D-I
4. A-IIT, B-1, C-IV. D-II

Options :

68634012417. 1
68634012418. 2
68634012419. 3



68634012420. 4

Question Id : 6863403132 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the following passage and answer the next five questions by choosing the correct options:-

Kalidasa's status as the major poet and dramatist in classical Sanskrit literature 18 unquestioned. once: when
poets were counted, Kalidasa occupied the little finger; the ring finger remains unnamed true to its name: for
his second has not been found.

That 1s high praise. Kalidasa's accomplishment 1s distinguished not only by the excellence of the individual
works, but by the many-sided which the whole achievements displays. He 1s a dramatist, a writer of epic and a
lyric poet of extraordinary scope. In his hands the language attaind a remarkable flexibility, becoming an
mstrument capable of sounding many moods and navaces of feeling: a language that 1s limpid and flowing.
musical. uncluttered by the verbal virtuosities indulged in by writters who followed him: yet. remaining a
language loaded in every the rift with the rich ores of the literacy and mythical allusiveness of his cultural.
heritage By welding different elements to creat new genres, his important as an innovator in the history of
Sanskrit literature 1its clearly eastblished. The brilliant medieval lyric poet, Jayadeva. in praising Kalidasa i-
kula-guru (master of Poets). Conveys his recognition of this aspect of the poet greatness. Bana. the celebrated
author of the prose-romance kadambari exclaimed.

Who is not delighted when Kalidasa's perfect versel spring forth their sweetness, like honey-filled cluster of
flowers?

Thus drawing attention to the exquisite craftsmanship of the poet's verse for nearly two millennia. Kalidasa's
works have been read with deep appreciation, widely commented upon and lavishly praised. It would be safe
to assume that the poet enjoyed success. fame and affluence during this lifetime. We sense no hint of
dissatisfaction in his works, no sign bitterness at not receiving due recognition. Yet, we do not possess any
information about him, his life and the times in which that life unfolded and fulfilled itself. All we are left with
are a few legends. The poet has drawn as veil of silence round himself so complete that even his real name is
unknown to posterity.

No name is affixed to the poems and epic: they have come down to us virtually anonymous. What information
we possess 18 dertved from references to them by later poets and writers and the commentaries written on them
and from inscriptions. The name is met with only in the plays, where in each prologue. the author styles
himself as Kalidasa. Like others in Sanskrit literature. this name 1s descriptive: Vyasa, meaning 'the compiler’.
18 the author of the Mahabharata, Valmiki. 'he who emerged from the anthil (valmika): of the Ramayana
Similarly Kali-dasa means the votary or servant of Kali 1s time in the feminine (Kala is time); the concept of
times as creative principle i1s an old as Vedas. "We can then translate the name Kali-dasa as 'the sevant of time',
a phrase that prompts us to explore its significance.

Sub questions

Question Number : 1 Question Id : 6863403133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 1s the main idea of the excerpt?

1. The mystery and obscurity surrounding the name and life of Kalidasa

| B

. The exploration of the literary and mythical allusiveness in the language of Kalidasa
3. Presenting Kalidasa as a supreme innovator
4. Appreciation of Kalidas's distinguished stature as a dramatist epic and lyric poet
Options :
68634012401. 1
68634012402. 2

68634012403. 3
68634012404. 4

Question Number : 2 Question Id : 6863403134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following statements are true. with reference to Kalidasa?

1. his language is enriched with the literary and mythical allusiveness of his cultural heritage

2. He can be called an innovator in the history of sanskrit literature he welds different elements to create
NEW geures

3. He was a dramatist, an epic and literary poet of extraordinary scope

4. The bitterness and dissatifaction of not having been adequately recognized in the works of the later
period

Options :

68634012405. 1
68634012406. 2
68634012407. 3
68634012408. 4

Question Number : 3 Question Id : 6863403135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Kalidasa's is "a language loaded in every rift with the rich ores of literary and mythical allusiveness.”

The literary device used in the underlined segment is:

1. Imagery

2

. Asyndeton

3. Personification

s

. Metaphor



Options :

68634012409. 1
68634012410. 2
68634012411. 3
68634012412. 4

Question Number : 4 Question Id : 6863403136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II based on the information in the passage:

LISTI LISTII
A |Valmiki-"he who emerged from the authill” 1. |The author of Mahabharatha
B. [Javadeva-brilliant medival lyric post II. |Anonvmous works
C. [Kalidasa-"The servant of time"-Master of poets | IIL. |[The author of prose-romance Kadambari
D. [Vvasa-the compiler IV |The author of the Ramavana

Choose the most appropriate answer from the options given below:

1. A-IV, B-II, C-III. D-I

| ]

CA-TV. B-IIIL. C-I1, D-I
3. A-IV. B-IIL C-I. D-II
4. A-I. B-II, C-IV, D-III

Options :

68634012413. 1
68634012414. 2
68634012415.3
68634012416. 4

Question Number : 5 Question Id : 6863403137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II to highlight trhe savant features of Kalidasa's age

LISTI LISTII

An imnovator who joined or

A |Uncluttered by verbal virtuosities I. |amalgamated different elements to create new
geures

B. [Literary and mvthical allusiveness II ]-ﬂ.ahda_sat oreorinl BIE S ma renealeatla
posterity

e Wt obsiuies vind bl e e [Free of the excessive culture and display of
verbal skill

D. [Welding different elements to create new geures| IV, &Z;-ie;ence e e

Choose the most appropriate answer from the options given below:

1. A-IV. B-II, C-III. D-I

[ )

A-IL B-1, C-IV, D-III
3. A-IIL B-IV. C-II. D-I
4. A-IIT, B-1, C-IV. D-II

Options :

68634012417. 1
68634012418. 2
68634012419. 3
68634012420. 4

Sub-Section Number : 2
Sub-Section Id : 68634095
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 6863403138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II to identify the type of Adverbial clause used in List I

LIST1 LISTII
R The paformances were cancelled hecause M e
the leading man was unwell
Suicly vieu dons it oo by II. |Adverbial clause of reason

" vourself like she does
C. |[When the citv 1s dark, we can move around easily | III. JAdverbial clause of manner

Although crocodiles are inactive for long periods on| . : 2
: - ; IV, |Adverbial clause of time
occasion they can run very fast indeed

Choose the most appropriate answer from the options given below:

1. A-IL B-L. C-III. D-IV
2. A-I B-IL. C-1. D-IV
3. A-IL. B-III. C-IV, D-I
4. A-I, B-ITI. C-II. D-IV

Options :

68634012421. 1

68634012422 2

68634012423. 3
68634012424. 4

Question Number : 6 Question Id : 6863403138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II to identify the type of Adverbial clause used in List I

LIST1 LISTII
A The performances were cancelled because I s et daies
the leading man was unwell
Suicly vieu dons it oo by II. |Adverbial clause of reason

" vourself like she does
C. |[When the citv 1s dark, we can move around easily | III. JAdverbial clause of manner

Although crocodiles are inactive for long periods on| . : 2
: - ; IV, |Adverbial clause of time
occasion they can run very fast indeed

Choose the most appropriate answer from the options given below:
1. A-IL, B-L. C-III. D-IV
2. A-I B-IL. C-1. D-IV
3. A-IL. B-III. C-IV, D-I
4. A-I, B-ITI. C-II. D-IV
Options :

68634012421. 1
68634012422, 2



68634012423.3
68634012424. 4

Question Number : 7 Question Id : 6863403139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT Michael Mcearthy and fill the suitable phrasal values in the blanks.

LISTI LISTII

A |The escaped convict on an oil tanker I |Slogging away
Jo has ben at her revision all morning. e

B. : i II. [Whiattl ray
Why don't you take her some coffee i
[Every year the management is at jobs. ;

SRl £ 2] III. [Dumbing down)
[Now there are fewer than 100 employees in the company i

D. There are compl.ainrf_-' that many ur}ix'ersities o [sisceames
are their degree courses in order to attract more students -

Choose the most appropriate answer from the options given below:
1. A-IV. B-IIL. C-I. D-IT
2. A-IV. B-IL. C-II1. D-1
3. A-IV. B-I. C-II, D-III
4. AL B-IV, C-1. D-III

Options :

68634012425. 1
68634012426. 2
68634012427. 3
68634012428. 4

Question Number : 7 Question Id : 6863403139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II Michael Mccarthy and fill the suitable phrasal values in the blanks.

LISTI LISTII
A |The escaped convict on an oil tanker I |Slogging away
Jo has ben at her revision all morning. o o
L Why don't you take her some coffee T, [Whitthing awa

Every vear the management 1s at jobs.

[Now there are fewer than 100 employees in the company III. [Dumbing down

D There are complaints that many universities

: : : IV |Stowed away
are their degree courses in order to attract more students i

Choose the most appropriate answer from the options given below:
1. A-IV. B-III. C-I. D-II
2. A-IV. B-IL. C-II1. D-1
3. A-IV. B-I. C-II, D-III
4. A-II B-IV, C-1. D-IIT

Options :

68634012425. 1
68634012426. 2
68634012427. 3
68634012428. 4

Question Number : 8 Question Id : 6863403140 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Central government Wednesday launched the early childhood care and education programme
keeping the National Education Policy 2020 for all its 13.9 lakh functional anganwadis under
the banner "Poshan Bhi Padhai Bhi."

1.on.in. with

| )

. at. with. in
3. on. with. for
4. on. for. in

Options :

68634012429. 1
68634012430. 2
68634012431. 3
68634012432. 4

Question Number : 8 Question Id : 6863403140 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Central government Wednesday launched the early childhood care and education programme
keeping the National Education Policy 2020 for all its 13.9 lakh functional anganwadis under
the banner "Poshan Bhi Padhai Bhi."

1.on.in. with

2

. at. with. in
3. on. with. for
4. on. for. in

Options :

68634012429. 1
68634012430. 2
68634012431. 3
68634012432. 4

Question Number : 9 Question Id : 6863403141 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correctly spelt word from the given options

1. TESSERA

| )

. TISSERA
3. TESEERA

4. TESSEAR

Options :

68634012433. 1
68634012434.2
68634012435. 3
68634012436. 4

Question Number : 9 Question Id : 6863403141 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correctly spelt word from the given options

1. TESSERA

| )

. TISSERA
3. TESEERA

4. TESSEAR

Options :



68634012433. 1
68634012434. 2
68634012435. 3
68634012436. 4

Question Number : 10 Question Id : 6863403142 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Leaving a meeting as an expression of disapproval is called.

1. Walk on

(B

. Walk off
3. Walk

4. Walk out

Options :

68634012437. 1
68634012438.2
68634012439. 3
68634012440. 4

Question Number : 10 Question Id : 6863403142 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Leaving a meeting as an expression of disapproval is called.

1. Walk on
2. Walk off
3. Walk in
4, Walk out

Options :

68634012437. 1

68634012438. 2

68634012439. 3
68634012440. 4

Question Number : 11 Question Id : 6863403143 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A sum of money lent on compound interest amounts to T968 in 2 years at 10% per annum interest
compounded annually. find the sum.

1. Rs 827
2.Rs 845
3. Fs 800

4, RS 589

Options :

68634012441. 1
68634012442. 2
68634012443. 3
68634012444. 4

Question Number : 11 Question Id : 6863403143 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sum of money lent on compound interest amounts to 2968 in 2 years at 10% per annum interest
compounded annually. find the sum.

1. Rs 827
2. Rs 845
3. Rs 800

4. RS 889

Options :

68634012441. 1
68634012442.2
68634012443. 3
68634012444. 4

Question Number : 12 Question Id : 6863403144 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

While finding the average marks of the class, marks of one student were wrongly entered as 93 instead of 63
resulting to an increase in the average by 0.5 mark. The number of students in the class is.

1. 50

[ ]
L
n

4.7

n

Options :



68634012445. 1
68634012446. 2
68634012447. 3
68634012448. 4

Question Number : 12 Question Id : 6863403144 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

While finding the average marks of the class, marks of one student were wrongly entered as 93 instead of 63
resulting to an increase in the average by 0.5 mark. The number of students in the class is.

1. 50

n

ol
[ ]
i

4. 75

Options :

68634012445. 1
68634012446. 2
68634012447. 3
68634012448. 4

Question Number : 13 Question Id : 6863403145 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The diameter of a solid right circular cone 15 14em and its slant height 1s 10em. The rate of colouring of the

: : 22
cone is Z14/em® The cost of colouring  use (;T = —]

\ 7

1.2 5036

[ )

.25136
3.2 5266
4. % 5236

Options :

68634012449. 1
68634012450. 2
68634012451. 3
68634012452. 4

Question Number : 13 Question Id : 6863403145 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The diameter of a solid right circular cone 15 14em and its slant height 1s 10em. The rate of colouring of the

\ 7

: : 22
cone is Z14/em® The cost of colouring  use (;T = —]

1.2 5036

[ )

.25136
3.3 5260
4. % 5236

Options :

68634012449. 1
68634012450. 2
68634012451. 3
68634012452. 4

Question Number : 14 Question Id : 6863403146 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many kilograms of sugar costing RS 45 per kg must be mixed with 27 kg of sugar costing Rs35 per kg so
that there is a gain of 10% by selling the mixture at Rs46.20 per kg?

1. 36

4.63

Options :

68634012453. 1
68634012454.2
68634012455. 3
68634012456. 4

Question Number : 14 Question Id : 6863403146 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many kilograms of sugar costing RS 45 per kg must be mixed with 27 kg of sugar costing Rs35 per kg so
that there is a gain of 10% by selling the mixture at Rs46.20 per kg?

1. 36

!_J
=N
-

4,63

Options :

68634012453. 1
68634012454. 2
68634012455. 3
68634012456. 4

Question Number : 15 Question Id : 6863403147 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A and B together can do a work in 30 days. they worked together for 20 days and then B left A alone finished
the remaining work in 20 days. In how many days A alone can do the whole work?

1. 60

| )

.54

4.40

Options :

68634012457. 1
68634012458.2
68634012459. 3
68634012460. 4

Question Number : 15 Question Id : 6863403147 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A and B together can do a work in 30 days. they worked together for 20 days and then B left A alone finished
the remaining work in 20 days. In how many days A alone can do the whole work?

1. 60

| ]

.54

4. 40

Options :



68634012457 1
68634012458. 2
68634012459. 3
68634012460. 4

Question Number : 16 Question Id : 6863403148 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct option complete the figure series problem figure:

O—> | <O
1.
2.
3| iE—
4| O—
Options :

68634012461. 1
68634012462. 2
68634012463. 3
68634012464. 4

Question Number : 16 Question Id : 6863403148 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct option complete the figure series problem figure:

O—> | <O

1.

2.

3| ©&—>

1| O—>
Options :

68634012461. 1
68634012462. 2
68634012463. 3
68634012464. 4

Question Number : 17 Question Id : 6863403149 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Answer the below mentioned question on the basic of the given statements and assumptions,

Statements- The company has recently announced series incentives to the employee who are punctual and
sincere

Assumptions: I: those who are not punctual at present may get motivated by the announcement

II: The productivity of the company may merease

IIT: The profit earned by the company may be more than the amount to be spent for the incentive
programme

1. Only I 1s right

b2

. Only II is right
3. I and II are right

4. 11 and IIT are right

Options :

68634012465. 1
68634012466. 2
68634012467. 3
68634012468. 4

Question Number : 17 Question Id : 6863403149 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Answer the below mentioned question on the basic of the given statements and assumptions.

Statements- The company has recently announced series incentives to the employee who are punctual and
sincere

Assumptions: I: those who are not punctual at present may get motivated by the announcement

IT: The productivity of the company may increase

III: The profit earned by the company may be more than the amount to be spent for the incentive
programme

1. Only I 1s right

2

. Only II 1s right
3.1 and II are right

4. II and III are right

Options :

68634012465. 1
68634012466. 2
68634012467. 3
68634012468. 4



Question Number : 18 Question Id : 6863403150 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the missing term:
0;3,8,15,24. 7

2::33
3. 34
4. 35

Options :

68634012469. 1
68634012470. 2
68634012471. 3
68634012472. 4

Question Number : 18 Question Id : 6863403150 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the missing term:
0.3.8,15,24.?

2.33
3. 34
4. 35

Options :

68634012469. 1
68634012470. 2
68634012471. 3
68634012472. 4

Question Number : 19 Question Id : 6863403151 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Suraj's school bus is facing North when it reaches his school. After starting from Suraj's house. it turns right
twice and then turn left before reaching the school which direction was the bus facing when it left the bus stop
in front of Suraj house?

1. East
2. West
3. North

4, South

Options :

68634012473. 1
68634012474. 2
68634012475. 3
68634012476. 4

Question Number : 19 Question Id : 6863403151 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Suraj's school bus 1s facing North when it reaches his school. After starting from Suraj's house. it turns right
twice and then turn left before reaching the school which direction was the bus facing when it left the bus stop
i front of Suraj house?

1. East
2. West
3. North
4. South
Options :
68634012473. 1
68634012474. 2

68634012475.3
68634012476. 4

Question Number : 20 Question Id : 6863403152 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If Raman says. "Anil's mother is the only daughter of my mother". How is Raman related to Anil?

1. Father

[ ]

. Brother

3. Maternal uncle

e

. Grand father



Options :

68634012477. 1
68634012478. 2
68634012479. 3
68634012480. 4

Question Number : 20 Question Id : 6863403152 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If Raman says. "Anil's mother is the only daughter of my mother". How is Raman related to Anil?

1. Father

[ ]

. Brother

3. Maternal uncle

4. Grand father

Options :

68634012477. 1
68634012478. 2
68634012479. 3
68634012480. 4

Question Number : 21 Question Id : 6863403153 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Gas that was leaked during 'Bhopal gas tragedy is

1. Ethyl 1sothiocyanate
2. Methyl 1socyanate
3. Soliam 1isothiocyanate
4. Methyl per oxide

Options :

68634012481. 1

68634012482. 2

68634012483. 3
68634012484. 4

Question Number : 21 Question Id : 6863403153 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gas that was leaked during 'Bhopal gas tragedy is

1. Ethyl 1sothiocyanate

| )

. Methyl isocyanate

3. Soliam 1isothiocyanate

=

. Methyl per oxide

Options :

68634012481. 1
68634012482. 2
68634012483. 3
68634012484. 4

Question Number : 22 Question Id : 6863403154 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I Phases of Buddha's Lifel LIST II Symbols
A |Renunciation I |Stupa

B. [Enlightenment II. |[Horse

C. [First sermon III. [Wheel

D._ [Death IV |Bodhi tree

Choose the most appropriate answer from the options given below:

1. A-IL. B-IV, C-III. D-I

| E)

. A-IV. B-II, C-III, D-I
3. A-IL B-IV. C-1, D-III
4. A-I. B-II, C-III. D-IV

Options :

68634012485. 1
68634012486. 2
68634012487. 3
68634012488. 4

Question Number : 22 Question Id : 6863403154 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LIST I Phases of Buddha's Lifel LIST II Symbols
A |Renunciation [ |Stmupa

B. [Enlightenment II. [Horse

C. [First sermon III. [Wheel

D._ [Death IV |Bodhi tree

Choose the most appropriate answer from the options given below:

1. A-IL. B-IV, C-III. D-I

[ )

. A-IV, B-II, C-III, D-I
3. A-IL B-IV. C-1, D-III
4. A-I. B-II, C-III. D-IV

Options :

68634012485. 1
68634012486. 2
68634012487. 3
68634012488. 4

Question Number : 23 Question Id : 6863403155 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who has become the first women President of the Indian Olympic Association (I0A)?

1. Deepa Karmakar
2. Mary Kom
3. Pt Usha
4. Karnam Malleshwari

Options :

68634012489. 1

68634012490. 2

68634012491. 3
68634012492. 4

Question Number : 23 Question Id : 6863403155 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who has become the first women President of the Indian Olympic Association (I0A)?

1. Deepa Karmakar

| )

. Mary Kom
3. Pt Usha

4. Karnam Malleshwari

Options :

68634012489. 1
68634012490. 2
68634012491. 3
68634012492. 4

Question Number : 24 Question Id : 6863403156 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement I: Green revolution is the phrase generally used to describe the spectacular increase that took place
during 1968

Statement IT: Green revolution was ntroduced by Lal Bahadur Shastri

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement [ and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement [ is incorrect but Statement II is correct

Options :

68634012493. 1
68634012494. 2
68634012495. 3
68634012496. 4

Question Number : 24 Question Id : 6863403156 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Statement I: Green revolution is the phrase generally used to describe the spectacular increase that took place
during 1968

Statement IT: Green revolution was introduced by Lal Bahadur Shastri

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement [ and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement [ is incorrect but Statement II is correct

Options :

68634012493. 1
68634012494. 2
68634012495. 3
68634012496. 4

Question Number : 25 Question Id : 6863403157 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which Article give power to President of India to promugate ordinances. when the parliament 1s not in
: B
session’

1. Article 51A
2. Article 151
3. Article 123

4. Article 356

Options :

68634012497. 1
68634012498. 2
68634012499. 3
68634012500. 4

Question Number : 25 Question Id : 6863403157 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which Article give power to President of India to promugate ordinances. when the parliament 1s not in

session?

1. Article 51A

| )

. Article 151
3. Article 123

4, Article 356

Options :

68634012497. 1
68634012498. 2
68634012499. 3
68634012500. 4

Part B: Nanoelectronics Material Sciencs

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

68634064
2

Online
Mandatory
75

75

300

Yes

0

1
68634096
Yes

null

Question Number : 26 Question Id : 6863403158 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For the following circuit diagram (Non-inverting OP-AMP). output voltage is:

K
Ip

L s VO

3.V, =—L (V. -V,

R]( —Va)
VIJ=L(VE+V-})
R, +R, i

Options :

68634012501. 1
68634012502. 2
68634012503. 3
68634012504. 4

Question Number : 26 Question Id : 6863403158 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fou g fvoy fom (smfgart op-wad®) & fou fFrfg dieear e .

RF
R, +R,

4. Vy=

(V,+V,)

Options :

68634012501. 1
68634012502. 2
68634012503. 3
68634012504. 4

Question Number : 27 Question Id : 6863403159 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The phase-shift oscillator consits of:

1. Two stages of RC circuit

[ )

. One stage of LC circuit
3. Three stages of RC circuit
4. Four stage of RC circuit

Options :

68634012505. 1
68634012506. 2
68634012507. 3
68634012508. 4



Question Number : 27 Question Id : 6863403159 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el [0 Siddd a1 5idT o -

1. RC GOy 1 g1 Sawradi (o) 9
RC URUY &I TP a8l (o) I
.RC IROY F1 I fawytsif (&on 4
4. RC URTY o IR ax1a3fi (o) I

[

L]

Options :

68634012505. 1
68634012506. 2
68634012507. 3
68634012508. 4

Question Number : 28 Question Id : 6863403160 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Negative feedback mn amplifier leads to:

1. Decrease in band width.

(B

. Decrease in harmonie distortion
3. Increase in noise

4. Increase in harmonic distortion

Options :

68634012509. 1
68634012510. 2
68634012511. 3
68634012512. 4

Question Number : 28 Question Id : 6863403160 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



& Yade o Bunde R g .
1. 95 B IISIg $H 81 9l &

YISl fa=gur BT 8 Sl 8

XAAFZ TR

Al fTEum H gig st §

| )
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=

Options :

68634012509. 1
68634012510. 2
68634012511. 3
68634012512. 4

Question Number : 29 Question Id : 6863403161 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Monolithic circuit (Integrated circuits ICs) are classified as medium scale integration (MSI) Circuits when
number of logic gates :

L10°N <10°
10<N <100
100 < N £100,000

4N >10°

Options :

68634012513. 1
68634012514. 2
68634012515. 3
68634012516. 4

[ ]

L¥ ]

Question Number : 29 Question Id : 6863403161 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UHIPHd TNTY (TS TR 1Cs) B AT UM GHE A (MSI) TRy I TR 601 Sl § 99

L10°N <10°

10<N <100
100 < N <100,000

b2

L]

4N>10°
Options :
68634012513. 1
68634012514.2

68634012515.3
68634012516. 4

Question Number : 30 Question Id : 6863403162 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
An ideal operational amplifier (OP-amp) would not exhibit the following electrical characterstics-
L. Infinite Input Resistance
2. Infinite Voltage Gain

3. Infinite output Resistance

4, Infinite Band width

Options :

68634012517. 1
68634012518. 2
68634012519. 3
68634012520. 4

Question Number : 30 Question Id : 6863403162 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U 1SS SHaTH® Vae® (OP-amp). FRIRGd dgga fa<ivar Ta! fewardr-
1. 3d frawr wferry
- 3fd dlecal fafe
3. 3d e wfcRiy
4. HddS B IS

Options :

| )



68634012517. 1
68634012518. 2
68634012519. 3
68634012520. 4

Question Number : 31 Question Id : 6863403163 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The power gain of an amplifier is 'X' and its voltage gain is 'Y" then its current gain will be:

X
1

¥
L

X
3 XY
4 X+Y

Options :

68634012521. 1
68634012522. 2
68634012523. 3
68634012524. 4

Question Number : 31 Question Id : 6863403163 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ue yade 3t wifda afsl x 3R 3P dicedr A v &, O ST eRT Afer @ gnft o

X
1

Y
X

X
3.X.Y
4 X+Y

Options :

68634012521. 1
68634012522. 2
68634012523.3
68634012524. 4

Question Number : 32 Question Id : 6863403164 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
NPN Transistor with normal bias:

1. Emitter junction is reverse biased

b2

. Emitter junction is forward biased and collector junction is reverse biased
3. Both emitter and collector junction are forward biased.
4. Both emitter and collector junction are reverse biased

Options :

68634012525. 1
68634012526. 2
68634012527. 3
68634012528. 4

Question Number : 32 Question Id : 6863403164 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U NPN Cifoiex (IHd a1 & T1Y) & [ SiH W ey[ 3faa @ -

1. ool G uyfefe aae gl &
2. Suid Y SEEY Bl & SR Jure! Uit gufeRe sma grdt &
3. JoToid WY 3R TuTe! TfY ST spreTaw Bt §
4. Ioia Gy 3R darel °@fY g1 vufefe sma grdi g

Options :

68634012525. 1

68634012526. 2

68634012527. 3
68634012528. 4

Question Number : 33 Question Id : 6863403165 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One 1s labelled as Assertion (A) and the other 1s labelled as Reason (R)
Assertion (A) : The output of ideal op-amyp can drive an infinite number of other devices.
Reason (R) : An ideal op-amp exhibits infinite output resistance.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
3. (A) 1s correct but (R) 1z not correct

4. (A) 1s not correct but (R) 1s correct
Options :
68634012529. 1
68634012530. 2

68634012531. 3
68634012532. 4

Question Number : 33 Question Id : 6863403165 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
PR ST PUT§ : U aifiymud Sifiysmed (A) F 0 H f0fEd € §f R 999 RU(R) F =0 H
YUY (A) : U 318X op-Hatid & (10, Hd F@ i gl Gfdaal &1 Hara- 2 Gdhdl ¢ |
BRI (R) : TP 15T op-Hatie &1 10, wforie sHa gia g |
SWRIad BYF & e H, = fay 7T faseal & I 9el 3 &1 994 DI -
1. AR R G AT AR R A DI U5 AR ©
2. A SR R &I 9@ © Ao R A T 98 IRAT ol ©

3. AT S, AfR 3TT©

4 AT L. AfPTRITT

Options :

68634012529. 1
68634012530. 2
68634012531. 3
68634012532. 4

Question Number : 34 Question Id : 6863403166 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)
Assertion (A) : Open loop op-amp configurations are not used in linear application.

Reason (R) : Output of op-amp is either at positive or negative saturation levels when operated in open-loop
configuration.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
3. (A) 1s correct but (R) 1s not correct

4. (A) 1s not correct but (R) 1s correct

Options :

68634012533. 1
68634012534. 2
68634012535. 3
68634012536. 4

Question Number : 34 Question Id : 6863403166 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
PR ST P § : U i@y Sifismed (A) F E0 H f0fd € 9 R S99 SR (R) F =0 H
YUY (A) : GAI-UT op-Hateh (Gl &1 ITAIT @S VIR H 781 gial |

BRI (R) : U op-Hatidh ol (710, o1d I Gell-url fd=ars § w=ierd (a1 Sl 8. 41 g1 BUSHTES
g TR W EAIS |

SRIgd BYA & Haie H, = oy 7T faseal & I 9el 3 &1 999 DI -
1. AR REM 9A T AR R A DI U5 AR ©

A 3R R I 9@ € A R, A BT Wl TR Tl ©

ATIE. PR EA T

4 A3ETE. AfPTR TR

2

Lag

Options :

68634012533. 1
68634012534. 2
68634012535. 3



68634012536. 4

Question Number : 35 Question Id : 6863403167 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following fabrication steps of MOSFET staring from initial level:

A Metal Deposition
B. Wafer Cleaning
C. Oxidation

D. Doping

Choose the correct answer trom the options given below:
LAB,CD
2B, €, DA
3.D,B,A,C

4.B.D.C.A

Options :

68634012537. 1
68634012538. 2
68634012539. 3
68634012540. 4

Question Number : 35 Question Id : 6863403167 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 f4U MOSFET & Tidfd val &1 URHE TR ¥ cgaieyd S |

A. uTg e

B. Uil (qHY) THTS
C. igdimor

D. HIgA

= fau U fdaredl § O 981 3T &1 904 $ilei

1A B C.D

2B DA

3.D.B,A,C

4. B. D C.A
Options :

68634012537. 1
68634012538. 2



68634012539. 3
68634012540. 4

Question Number : 36 Question Id : 6863403168 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I : Diffusion potential across p-n junction increases with increase in doping concentration.
Statement II : Contact potential of p-» junction can be measured by voltmeter.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement I are true
2. Both Statement I and Statement II are false
3. Statement I 1s true but Statement IT is false

4. Statement I is false but Statement IT is true

Options :

68634012541. 1
68634012542. 2
68634012543. 3
68634012544. 4

Question Number : 36 Question Id : 6863403168 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFagisyfRRume -

FYTI: U p-p TlY & 3R UR [GIR01 faya, Jre- WigdiggH 4 dgai g |
FYT I : TF p-n T & Tf fgua, e T AT 9 8

SWRIFd DY & el 1, (9 [y 7Y faeeul & O 9a9 Sugead 3R &1 90+ Sl

1. YT IR BYT NS T &

2. P AR FUT I SHT ST &
3. PYT 1 HA 8. Of Sy 11 3T ©

4. PYT] IR, AP PYI I II &

Options :
68634012541. 1



68634012542. 2
68634012543. 3
68634012544. 4

Question Number : 37 Question Id : 6863403169 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : Collector current of BIT increases with increase in temperature.

Statement IT : Minority charge carriers in collector-base junction increase with increase in temperature.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4, Statement [ is false but Statement II is true

Options :

68634012545. 1
68634012546. 2
68634012547. 3
68634012548. 4

Question Number : 37 Question Id : 6863403169 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HYTI: BIT 3| U] YR 99 g Y gfG il g |
HYT 11 : JUTE-HUR HE T qruaE S+ 4 3feUiR] Sa% a8 gig 8idl © |

SWIad HY- & 3fcld H, - AU 7Ty fasedl ¥ 3 a8 Sugad 3R &l 99 DI

1. PYFT IR BYT IS T &

2. HYF 1 R BYF I I 3T ©
3. PYT1 9T 6. AfT BT 11 3T ©

4. PYT] A . APTIPYT I I &

Options :
68634012545. 1



68634012546. 2
68634012547. 3
68634012548. 4

Question Number : 38 Question Id : 6863403170 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consequences of base-width modulation are:

A. a and p increase

B. Recombination current increases
C. Collector current increases

D. Collector current decreases

Choose the correct answer from the options given below:
1. B and D only
2. Aand C only
3. Aonly
4. D only
Options :
68634012549. 1
68634012550. 2

68634012551.3
68634012552. 4

Question Number : 38 Question Id : 6863403170 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SHTUR-ISTS AT P IRUTH S -
A 3R p ﬁg@
B. U: T oRI H 9fg
C. TR yRTH 9fg
D. TUTE! ¥RT H fiR1ge
Choose the correct answer from the options given below:
1.%dd B 3R D
2. HAAA IR C
3. a0 A
4.9 D

Options :



68634012549. 1
68634012550. 2
68634012551. 3
68634012552. 4

Question Number : 39 Question Id : 6863403171 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Transistor action in BJT represents :

A. Efficient flow of charge carriers from emitter to collector.

B. High input resistance between emitter and base junction.

C. Low input resistance between emitter and base junction.

D. Emitter-base junction be forward biased & collector-base junction be reverse biased.

Choose the correct answer from the options given below:

1. B only

[ ]

. C.D only
3. Aand D only
4. B and D only
Options :
68634012553. 1
68634012554. 2

68634012555.3
68634012556. 4

Question Number : 39 Question Id : 6863403171 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BIT H giforeex oo e=iidi g -

A. 3T dled] BT JcHod I TUTE! dP G& Halg

B. SOd ¥ MUR I & g9 3= o uferiy

C. TUTET 3R nyR 9iY & &= g Haw ey

D. Scooid-314R I, 3 e aaw § SR Iumel-3uR I, gy R auu © |

e fau e fawedi & 3 Hel SR &1 90 Difed
1. $dd B
2.%dd C.D
3.%ad A 3R D
4.%ad B AR D




Options :

68634012553. 1
68634012554. 2
68634012555. 3
68634012556. 4

Question Number : 40 Question Id : 6863403172 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
(Symbol) (Device)
Ly
A o o I |Light Emitting Diode
|~
A
B. e \/ o II. [Photodiode
g
c. O :} Q | IIL |Zener diode
7
D. O D‘/- O | IV [Rectifier diode

Choose the correct answer from the options given below:

1. A-I. B-II, C-IV, D-III

2

AT, B-1, C-II. D-IV

CA-ILL B-LL C-IV, D-III

[F5]

4, A-L. B-III, C-IV, D-II

Options :

68634012557. 1
68634012558. 2
68634012559. 3
68634012560. 4

Question Number : 40 Question Id : 6863403172 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 ¥ [ Sifor

LISTI LISTII
ke =
4
Al > o |! UHTL Jooid SIS
B o :;’/ o | Biel SAS
C. o :} O | [zms
D o D)l/ o |w[REew
fFafaRad fadedl & 9§ gl 3R &1 99+ Difult

1. A-I, B-IL. C-IV, D-III
2. A-IILL B-1. C-I1. D-IV
3. A-IL B-I1. C-IV. D-III
4. A-I. B-ITI. C-IV. D-II

Options :

68634012557. 1

68634012558. 2

68634012559. 3
68634012560. 4

Question Number : 41 Question Id : 6863403173 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The voltage gain loaded diff OMP-AMP is:

1. Larger than the unloaded voltage gain.

[

. Equal to the unloaded voltage gain.

L]

. Smaller than the unloaded voltage gain.
4. Impossible to determine

Options :

68634012561. 1
68634012562. 2
68634012563. 3
68634012564. 4



Question Number : 41 Question Id : 6863403173 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
% YIRT aHd OMP-Hasi® & diecdl dlsl © -
1. SHIRT diecdr A ¥ 311 §
 SYTRT dieed afed & RER §
TR dleea dfer 9 BIET 8

HIYAT 943 T8l &

[

L]

=S

Options :

68634012561. 1
68634012562. 2
68634012563. 3
68634012564. 4

Question Number : 42 Question Id : 6863403174 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Logic circuit that produces high output whenever the two inputs are at opposite levels 1s:

1. OR Gate
2. AND Gate
3. NOT Gate
4, Ex-OR Gate

Options :

68634012565. 1

68634012566. 2

68634012567. 3
68634012568. 4

Question Number : 42 Question Id : 6863403174 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U do IRy, i S Ffamer ardie e Wi s el ffam TR s Fau Ruoid € | ag ad uuy g
1. ORI

.AND TI@

NOTTIE

| )

L

4. Ex-OR 7T

Options :

68634012565. 1
68634012566. 2
68634012567. 3
68634012568. 4

Question Number : 43 Question Id : 6863403175 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

To form OR. Gate from NOR gate number of NOR Gates required are:

1. One

| )

. Two
3. Three

4, Four

Options :

68634012569. 1
68634012570. 2
68634012571. 3
68634012572. 4

Question Number : 43 Question Id : 6863403175 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

NOR 71¢ T OR TI¢ g4 & e1U 3TaRgd® NOR TIE @i 41 fda1 sl 2
1. TP

2.2l
3.4
4. 9R

Options :
68634012569. 1



68634012570. 2
68634012571. 3
68634012572. 4

Question Number : 44 Question Id : 6863403176 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Full Adder has three inputs A. B and Cin. and two outputs Sum (S) and carry (Cout). The expression for Sum
(S) 1s given by:

Where +, . & @ represents OR.AND, and Ex-OR operations, respectively.
LS=A+B+C,
:S=A®(BOC, )
K= ABEEC, S AC

Options :

68634012573. 1
68634012574. 2
68634012575. 3
68634012576. 4

Question Number : 44 Question Id : 6863403176 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qnf?ﬂaa%%fﬂqﬁa%x B 3R Gy AT &l (918 THAN (S) 3R B (Cout) BId 5 THAN (S) BT alivd
fearmare :

L.S=A+B+C,,
28=A-B-C,
3.S=A®(B@C,)
48=A-B+B-C_ +A.C,_

Options :

68634012573. 1

68634012574. 2

68634012575. 3
68634012576. 4

Question Number : 45 Question Id : 6863403177 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Which of the following is a Universal logic gate?

1. NOT Gate

[

. NOE. Gate
3. Ex-OR Gate

4, OR Gate

Options :

68634012577. 1
68634012578. 2
68634012579. 3
68634012580. 4

Question Number : 45 Question Id : 6863403177 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FaffT I s IdEE db e s 2
1.NOT Tl
2. NOR Tl

3. Ex-OR 7T

4. ORTIE

Options :

68634012577. 1
68634012578. 2
68634012579. 3
68634012580. 4

Question Number : 46 Question Id : 6863403178 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Clocked J-K Flip-Flop (FF) is said to be in toggle mode of operation if:
(PGT = Positive Going Transition)

1. Both J =K = 0. FF will toggle for each PGT of the clock

| )

. Both J=K = 1. FF will toggle for each PGT of the clock
3. Both J=1, K =0, FF will toggle for each PGT of the clock

4. Both J=0, K = 1. FF will toggle for each PGT of the clock



Options :

68634012581. 1
68634012582.2
68634012583. 3
68634012584. 4

Question Number : 46 Question Id : 6863403178 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HICES (TeY-Ta T &1 CTd [9UT H HEIeH S Hedldl § 91 (PGT= 9Tdd ol SshH0N);
1.3FI I=K = 0. FF &I & & olel & [0 eHTd UM

GFl =K = 1. FF ®Id & 8 PGT & flU THTel Sl

GHIT=1,K =0, FF ®Id & g2 PGT & 1T S1Td BT

4.l I=0.K = 1. FF ®Id & 8 PGT & o1 ST ST

| )

[#5]

Options :

68634012581. 1
68634012582. 2
68634012583. 3
68634012584. 4

Question Number : 47 Question Id : 6863403179 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The simplified expression for Y = ABD+ABD s

1,}; — l
2.y=AB
j.y:(}
4y=D
Options :

68634012585. 1
68634012586. 2
68634012587. 3
68634012588. 4

Question Number : 47 Question Id : 6863403179 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y=ABD+ABD & iU Raawis o -
1._]} o l

AB

1. .l.-'

]

S.y:{)
—1.}1:

wl

Options :

68634012585. 1
68634012586. 2
68634012587. 3
68634012588. 4

Question Number : 48 Question Id : 6863403180 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: One 1s labelled as Assertion (A) and the other is labelled as Reason (R)
Assertion (A) : The current through an open device 1s zero.
Reason (R) : Open device has infinite resistance.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

3. (A) 1s correct but (R) 1s not correct

4. (A) 1s not correct but (R) is correct

Options :

68634012589. 1
68634012590. 2
68634012591. 3
68634012592. 4

Question Number : 48 Question Id : 6863403180 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 3 FU T : TP @ YT (A) T E9 1 [IRET § T g8 395 HRU(R) & 0 :
YT (A) : TP Teil I T ToRA arel! fayauRT I et § |

PR (R) - Gl G BT IR ST BT S |

SWRIgd HUF & e H, = U 7T fasedl & I 9g1 IR &1 981 DI -
ASRRIF TTE IR R AP T T ©

A SRR M 9 § A1 R. A P U6l AR 781 &

—

[ 2]

ATIE. AT R ET T

AT APIR TR

L]

e

Options :

68634012589. 1
68634012590. 2
68634012591. 3
68634012592. 4

Question Number : 49 Question Id : 6863403181 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The specifications of DAC (Digital to analog) 1s / are:
A. Resolution
B. Linearity
C. Accuracy
D. All of these

Choose the correct answer from the options given below:

1.Aand B

| )

C
3.Cand A
4.D

Options :

68634012593. 1
68634012594. 2
68634012595. 3
68634012596. 4

Question Number : 49 Question Id : 6863403181 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



DAC (3@ ¥ 3F1) F aFEw 8 -
A, fagieH
B. X@war
. g
D. IWRIad Tt

fra feu e faared] © O 981 3T &1 904 Difor

1. A3IRB
o
3.C3RA
4.D

Options :

68634012593. 1

68634012594, 2

68634012595. 3
68634012596. 4

Question Number : 50 Question Id : 6863403182 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1I LIST II
A INAND and NOR I. |Frequency Division
B. |[Counter II. [Universal Gate
C. PMuluplexer II1. JAddressing in memory chips
D. [Decoder IV |Universal circuit

Choose the correct answer from the options given below:

1. A-IL. B-III. C-IV, D-I

| E)

. A-L B-II, C-III. D-IV
3. A-IL B-1, C-IV, D-III
4. A-IV. B-1. C-III, D-II

Options :

68634012597. 1
68634012598. 2
68634012599. 3
68634012600. 4



Question Number : 50 Question Id : 6863403182 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 9=t 11 9 e Sifey

T T TqE I
NAND HR NOR [ L [araft faureH
TUE @6y | 11 [GES e
dEdddd 111 |t #8R) fag | gantiireq
CEAEEE V. [OdiE® uiay

Ffafad Aol & T U8 STk &1 994 SV -

1. A-IL. B-III. C-IV. D-I

ofofw]>

|

. A-L B-IIL C-III. D-IV
3. A-IT, B-I. C-IV. D-III
4. A-IV. B-1. C-III. D-II

Options :

68634012597. 1

68634012598. 2

68634012599. 3
68634012600. 4

Question Number : 51 Question Id : 6863403183 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : Superposition theorem is applicable to non-linear networks and systems.

Statement II : Norton's theorem states that a complex network connected to a load can be replaced with an
equivalent impedance connected in parallel with a current source.

In the light of the above statements. choose the correct answer from the options given below
1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false

3. Statement I 1s true but Statement IT is false

4. Statement I is false but Statement IT is true

Options :
68634012601. 1
68634012602. 2



68634012603. 3
68634012604. 4

Question Number : 51 Question Id : 6863403183 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFagisyfRRume -

HYF 1 : HARIIY YHY, 3REF uRkay 3R Fem @ § arsare |
FYTO AT FHa & . U% i g9y, S U YR (@1s) § Haifrd 5. B U qed Wiaar (o
U YRT 4Id § FHIR HH 7 581 8) I WiIitd SR AP ¢ |

SRIGd BY & il 1, 1 U U fasedl & 9 9a9 ugdd 3R &1 99+ SIful:

1. YT IR YT GH 9 &

[

YT AR BYT I ST S &

Y1 9d §. e HYF 11 39 B

[¥5]

4 PYTI AT . AfPIPYI I II S

Options :

68634012601. 1
68634012602. 2
68634012603. 3
68634012604. 4

Question Number : 52 Question Id : 6863403184 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The correct statements given below are:
A. Logic gates has no storage capabilities.
B. Flip-Flop possess memory.
C. Flip-Flop can have only one input.

D. Flip-Flop has two allowed operating states.
E. Flip-Flop 1s also called Multiplexer.

Choose the correct answer from the options given below:
1. A and E only
2. Aand B only
3. A BandD only

4. A.B and E only

Options :
68634012605. 1



68634012606. 2
68634012607. 3
68634012608. 4

Question Number : 52 Question Id : 6863403184 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{3 fau e syl 1 @ HEl duA g
A. T Te H THRUT &HdT el gidl
B. fGag.wara & 708 (wfe) St ©
c. ThaU-Ti1T &1 $ad U Fow el gohdl g |
D. TURTU- Wil 1 &1 SHd Wi SfawiTd &
E. TiRiy-wi1g &1 dgddbde W Ped &

o fau U faeedl © O T8l 3T &1 904 Hiferd
1. BId A IRE
2. HaT AR B
3. HATA.BARD

4. AT A. B ARE

Options :

68634012605. 1
68634012606. 2
68634012607. 3
68634012608. 4

Question Number : 53 Question Id : 6863403185 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LIST I LIST IT
AlX+X= L [0

B_IX + X = i

o X

D [X+ Xy - v, [X

Where X is a Variable.
Choose the correct answer trom the options given below:
1. A-II, B-III, C-IV, D-I
2. A-IIL, B-II, C-I. D-IV
3. A-IV, B-III. C-II, D-I
4. AL, B-III, C-I. D-IV
Options :
68634012609. 1
68634012610. 2

68634012611. 3
68634012612. 4

Question Number : 53 Question Id : 6863403185 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 1 1 g 1 ¥ FaH SIeEEl X TP R o)
T T Tt I

ANXiX= L0

B.[X+X = |1

C .y = 11 [X

D [X+ XY - v, [X

faferiRad f[amedl § U T8l 3R &1 99 Hif ;

1. A-I1. B-ITI, C-IV. D-1
2. AL B-11L C-1. D-IV
3. A-IV. B-II1. C-I1. D-1
4. A-11. B-T11, C-1. D-IV

Options :

68634012609. 1

68634012610. 2

68634012611. 3
68634012612. 4



Question Number : 54 Question Id : 6863403186 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : Astable multi-vibrator generates square waves.

Statement IT : In multi-vibrator, feedback is very small. as a result transistor is always driven between cut-oft
and saturation stage.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

[

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement I1 is correct

Options :

68634012613. 1
68634012614. 2
68634012615. 3
68634012616. 4

Question Number : 54 Question Id : 6863403186 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁ%ﬁﬁwﬁqﬁq%

HYT1: TP RIS 5107 aF a0 I Il ¢ |

HYF 11 : TgH = § RO o4 7Y B1aT1 3 forg HRT S giforex g9 side 3R Figdl sawiisl & dg
aRAfa 8T g |

SWIad HY- & 3f1clld H, -1 AU Ty fasedl § 3 a8 Sugad 3R &l 99 DI

. PYTI AR PYI IS G &

> HYFI IR DU H] ST &
3. YT I8, Al PUT 11 38T ©

4. YT T E, AP FYH NI T T

Options :

68634012613. 1
68634012614. 2
68634012615. 3



68634012616. 4

Question Number : 55 Question Id : 6863403187 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Vector field A is irrotational if:

LVxA=0

Options :

68634012617. 1
68634012618. 2
68634012619. 3
68634012620. 4

Question Number : 55 Question Id : 6863403187 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tfaw & A srpifSaf .

<l <l
> >
o
o =

Options :

68634012617. 1
68634012618. 2
68634012619. 3
68634012620. 4

Question Number : 56 Question Id : 6863403188 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If vector A is magnetic vector potential. then the value of V(V x A)is:

14
1

[ ]

3.0
4. A

Options :

68634012621. 1
68634012622. 2
68634012623. 3
68634012624. 4

Question Number : 56 Question Id : 6863403188 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
afe 9w A W dgenaem @ e d@ v (VxA) FITHE

LA
1

[ ]

3.0
4. A

Options :

68634012621. 1
68634012622.2
68634012623. 3
68634012624. 4

Question Number : 57 Question Id : 6863403189 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a region there is Zero volume charge density but there are non zero line charge (1) and surface charge

deurity (o), then which of the following is valid in that region?

LV*V=¢
2' VJV=)»+J
3VV=0

4VV=0c A



Options :

68634012625. 1
68634012626. 2
68634012627. 3
68634012628. 4

Question Number : 57 Question Id : 6863403189 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U & H a9 97 Y § TR 981 IR S X9 1aw () ofR g9 3w 9d (o) ©. 59
&3 & forg, Fefied d S s o § 2 "

LV?V=0
VV=l+co
3.VAV=0

4VV=0 A

| )

Options :

68634012625. 1
68634012626. 2
68634012627. 3
68634012628. 4

Question Number : 58 Question Id : 6863403190 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a scaler function @')( o J) = _:{j e y: then value of I grad gﬂ' at (4.-3) 1s:

L7

4

| B

Taa
L

4. 10

Options :

68634012629. 1
68634012630. 2
68634012631. 3
68634012632. 4

Question Number : 58 Question Id : 6863403190 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



afz te IR Be A(x, y) =x" -y’ 2 d |grad ¢| DTHM (4.-3) TR, FIENT 2

L7

2.4

4. 10
Options :
68634012629. 1
68634012630. 2

68634012631. 3
68634012632. 4

Question Number : 59 Question Id : 6863403191 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ratio of electric field vector F and magnetic field vector H has the dimensions of:

1. Inductance
2. Resistance
3. Capacitance
4. Product of resistance and capacitance

Options :

68634012633. 1

68634012634. 2

68634012635. 3
68634012636. 4

Question Number : 59 Question Id : 6863403191 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fiqgq &7 9iew E iR graata 47 wiex H & sigura a7t v frw i e & 2
1. URehed &1
2. UfcRIey Bt
3. Y1 Bl
4. WGRIY 3R TR & TUHB B

Options :



68634012633. 1
68634012634. 2
68634012635. 3
68634012636. 4

Question Number : 60 Question Id : 6863403192 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A charge q 13 uniformly distributed in a spherical volume of radis R. The graph which represents the variation

of electric field E as the field point 1s moved away from the centre 1s:

!

i\

_m—}x

-

o—_

—>
r=R ,
N
E
4.
I
1
I
e
J“_R P—_—
Options :

68634012637. 1
68634012638. 2
68634012639. 3
68634012640. 4

Question Number : 60 Question Id : 6863403192 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U@ 31T q . T e g o] B R 8. F 9H U 3 fqaika g S o, S faggq a7 E 0
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-
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M
E
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I
>
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Options :

68634012637. 1
68634012638. 2
68634012639. 3
68634012640. 4

Question Number : 61 Question Id : 6863403193 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In case of reflection and refraction of light at the dielectric interface:
1. Tangential component of D and normal components of B are continuous.
2. Normal component of D and B are continuous
3. Normal components of D and tangential components of B are continuous.

4. Tangential components of D and B are continuous.

Options :

68634012641. 1
68634012642. 2
68634012643. 3
68634012644. 4

Question Number : 61 Question Id : 6863403193 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U TRIGgHd & Siax1 gHTg IR YT & WRIaa- SR 3uaa 3 -
1. D& Wi ¥@u ves 3R B & 90 Ued dad ©

2. D 3R B W Uedh Idd o
3. DH A YTH AR B & Wy Iy ued Sad g |
4. D3R B WY@y ues daa @

Options :

68634012641. 1
68634012642.2
68634012643. 3
68634012644. 4

Question Number : 62 Question Id : 6863403194 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One 1s labelled as Assertion (A) and the other 1s labelled as Reason (R)

Assertion (A) : The potential in a volume (v) is unigely determined if (1) the charge density through out the
region and (i1) the value of potential on all boundaries are specified.

Reason (R) : The solution of Laplace's equation in some volume (v) is uniquely determined if potential 1s
specified on the boundary surface.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

3. (A) 18 correct but (R) 1s not correct

4. (A) is not correct but (R) is correct

Options :

68634012645. 1
68634012646. 2
68634012647. 3
68634012648. 4

Question Number : 62 Question Id : 6863403194 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ g P2 © : U Sy (A) & &9 4 [T § ol g8 395 BRU(R) & =0 4 :

SHTUTUT (A) : UD A () T (94T U A7 alich I TIUT @Il © : Ale (i) G2 & T a2 99 SR (i)
it afedtaret o= fgya w1 o= fafAfew f |

BRYT(R) : TP G () H IR FHIHR01 1 56 U HTF d<ids 9 AT ST § I GREHT IR 98 0
fgya fafEE sl |

IR HYH & 3Taied H, (- fSu U f[dhedi § I Tg1 IR &1 99 1ol -
1. A SRR I T 8 IR R, A D TSI ARS &
A 3R R I TA ¢ Afh R. A Pl el AR Tl &

ATde. AfPTR 3TA T

b2

Laa

4 AT AfPTRITT

Options :
68634012645. 1
68634012646. 2



68634012647. 3
68634012648. 4

Question Number : 63 Question Id : 6863403195 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following electromagnetic radiation in increasing order of their energies:

A X-rays

B. Gamma rays
C. Micro waves
D. UV rays

E. visible rays

Choose the correct answer from the options given below:

1.A,€.B.D,E
2.AB.D.C.E
3 CEDBA
4. E.A.B.C,D

Options :

68634012649. 1

68634012650. 2

68634012651. 3
68634012652. 4

Question Number : 63 Question Id : 6863403195 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ g 713 faggd grae i fafbull &1 39! 39 & RIG (d@6d gU) PH I aied HIfu:

A X-Tdeuf
B. 791 fb=uf
C. g&H
D. UV &t
E. 5=Y faauf

- fau 7T fomedl © 4 T8l 3R &1 99 Bl

1A BIBE

[ 2]

.A.B.D,C,E

3 CEDBA

4 E.AB.C,D



Options :

68634012649. 1
68634012650. 2
68634012651. 3
68634012652. 4

Question Number : 64 Question Id : 6863403196 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I : Ampere law is valid only in the case of steady current.

Statement IT : If we take source or sink of current under consideration. the situation refers to the steady
current.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

2. Both Statement I and Statement I are false

3. Statement I is true but Statement II is false

4, Statement I is false but Statement IT is true

Options :

68634012653. 1
68634012654. 2
68634012655. 3
68634012656. 4

Question Number : 64 Question Id : 6863403196 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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SRIGd BY & il 1, 1 U U fasedl & 9 9a9 ugdd 3R &1 99+ SIful:
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2. BYT 1 AR BYT I ST ST §
3. PYTI 9T €. AfpT B 1 3T ©
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Options :

68634012653. 1
68634012654. 2
68634012655. 3
68634012656. 4

Question Number : 65 Question Id : 6863403197 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is/are not true in the case of conductors:

A. E = () inside a conductor.

B. p=0 inside a conductor

C. Any net charge resides on the surface.

D. E 1s parallel to the surface, just outside the conductor.
E. Potential may vary at different points on the conductor.

Choose the correct answer from the options given below:

1. A.B.D only

[ )

.B.E.D only
3.D & E only
4. A . C.D only

Options :

68634012657. 1
68634012658. 2
68634012659. 3
68634012660. 4

Question Number : 65 Question Id : 6863403197 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Frafafad & 9 oH w1 9! & fau ga T8l & 2
A, 9I10® & 3 E = ()
B. II8® & 3¥ p=0
C. 71T SHTAY TIE & IR A FRAI ¢ |

D. 1A% & UHeH d1ed E Ide & IR elar g |
E. 9109 & IR i fgei R fayg ¥ uRad1 T aoar g |

e fau e fam el & 9 Tel SR &1 90 Difed
1. $Ad A, B.D
2. ®%dd B.E.D
3. HdAD&E
4. BATA.C,D

Options :

68634012657. 1
68634012658. 2
68634012659. 3
68634012660. 4

Question Number : 66 Question Id : 6863403198 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Poisson's equation L V° V=0
Fen % n
B. [Laplace equation In|v-l= - &
o
_ P
C. |Continuity equation m |V-E = {;_
i
. o ,{J
D. |Gauss law v |V-V=——
&y

Choose the correct answer from the options given below:

1. A-I. B-II, C-III. D-IV

| )

. A-IIL B-1, C-III. D-IV
3. A-IIT, B-11. C-1. D-IV
4, A-IV, B-1, C-11, D-III

Options :



68634012661. 1
68634012662. 2
68634012663. 3
68634012664. 4

Question Number : 66 Question Id : 6863403198 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 1 1 Yl 1 ¥ fieH sifore
il FE o
A [@rE UigeH HE L W3V =0
B. [eTeEmg i@ I |vV-i= —%
: o P
C. [gide gl m. |[V-E= -
" o ;J
D. 3y @1 fFag IV, V'V——;
1)
fafead faeedl © 9 9ot Itk &1 99 Bl :

1. A-I. B-1I, C-III. D-IV

| )

. A-IL B-LL C-IIIL. D-IV
3. A-II1. B-11, C-1. D-IV
4. A-TV. B-1. C-I1. D-III

Options :

68634012661. 1

68634012662. 2

68634012663. 3
68634012664. 4

Question Number : 67 Question Id : 6863403199 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The register that holds the address of next mstruction which 1s to be executed. 1s:
1. Stack pointer
2. Program counter
3. PSW

4. Instruction register

Options :
68634012665. 1



68634012666. 2
68634012667. 3
68634012668. 4

Question Number : 67 Question Id : 6863403199 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dg Yoree. forad e & forw spre RS 1 uar gidr g o deandi o -

1. %P Jbdd
2. TSR T (UI9TH HI3eR)
3. PSW
4. T IoReR

Options :

68634012665. 1

68634012666. 2

68634012667. 3
68634012668. 4

Question Number : 68 Question Id : 6863403200 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

LDAX B 1s an example of:

1. Register addressing mode

(B

. Indirect addressing mode

L¥ 5]

. Direct addressing mode

e

. Implicit addressing mode

Options :

68634012669. 1
68634012670. 2
68634012671. 3
68634012672. 4

Question Number : 68 Question Id : 6863403200 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



LDAX B 9% Us 3gei0e 2
1. ISR Udl- YUITd! (H19)

. Ucd& Odl- WOIal!

| )

. U Udl- HUTTEl

L

. Y Udl- HoTel

=

Options :

68634012669. 1
68634012670. 2
68634012671. 3
68634012672. 4

Question Number : 69 Question Id : 6863403201 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Machine language is said to be low-level language if:

1. It 1s machine dependent or specific to a computer

(3=

. It 15 machine independent or independent of a given computer.

L¥ 5]

. It 15 not understandable by human beings.
4. Programs written in this language are transferable to other machine.
Options :
68634012673. 1
68634012674. 2

68634012675. 3
68634012676. 4

Question Number : 69 Question Id : 6863403201 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR 1T, 9 R YT HEard ¢ 3ie
TR TR R MR P T TS FHR & g oy g
T8 H R 4R e el € 71 faU T SHger W R e et
g8 HIS B IHI ol 3Tl
59 TS H fore g Tt @1 gad) g F RIR €l gddar g
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Options :



68634012673. 1
68634012674. 2
68634012675. 3
68634012676. 4

Question Number : 70 Question Id : 6863403202 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

EEPROM stands for:

1. Electrically Erasable programmable ROM's

(B

. Erasable programmable ROM's
3. Electronically Erasable programmable ROM's
4. Erase Error programmable ROM's

Options :

68634012677. 1

68634012678. 2

68634012679. 3
68634012680. 4

Question Number : 70 Question Id : 6863403202 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EEPROM &9 & el WamT a1 g 2

 goide Iddl | Ueolad WU ROM's

oy

| )

TSl UIITHEA ROM's

[#5]

ool Ueiad HAHead ROM's

TS URR UIUTHEA ROM's

=

Options :

68634012677. 1
68634012678.2
68634012679. 3
68634012680. 4

Question Number : 71 Question Id : 6863403203 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Program counter and the stack pointer are:

1. Control Units

2

. 16-bit registers

LFS]

. Address and Data Bus

=y

. Flip-Flops

Options :

68634012681. 1
68634012682. 2
68634012683. 3
68634012684. 4

Question Number : 71 Question Id : 6863403203 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HHSY TUE (WM Hde?) 3R EH 9HdP o
o seTRal (deid gfe)
. 16-fere Tforexdfem)
g1 AR ST
4. fRAY-WAly
Options :
68634012681. 1
68634012682. 2

68634012683. 3
68634012684. 4

fa—y

| ]

[FN]

Question Number : 72 Question Id : 6863403204 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A certain memory has a capacity of 4 KX 8. How many input and output lines does it has?

-y

. Eight input lines and Eight output lines

2

. Thirty-two input lines and thirty-two output lines

5]

. Four input lines and four output lines
4, 4096 mput lines and 4096 output lines

Options :
68634012685. 1



68634012686. 2
68634012687. 3
68634012688. 4

Question Number : 72 Question Id : 6863403204 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U (fda Wi @OR) 3T emdr 4 KX 8 | 3991 fda-1 e o ffd g gi 2
1. 313 a2 wmg 3R 3418 F7id g
FUI (32) oW @gA 3R &g (32) Rrfa aga
IR a9 Arg 3R =R id g
- 4096 a9 @A 3R 4096 fAtid @A

[ ]
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e

Options :

68634012685. 1
68634012686. 2
68634012687. 3
68634012688. 4

Question Number : 73 Question Id : 6863403205 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct statement with reference to Data Bus:
1. Bidirectional lines that carry data between CPU and memory
2. Unidirectional lines that carry data between CPU to memory
3. Unidirectional lines that carry data between memory to CPU
4. Bidirectional lines that carry data between memory and I/O devices
Options :
68634012689. 1
68634012690. 2

68634012691. 3
68634012692. 4

Question Number : 73 Question Id : 6863403205 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634012689. 1
68634012690. 2
68634012691. 3
68634012692. 4

Question Number : 74 Question Id : 6863403206 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A) : The number of memory cycles required to execute LDA 4000H mstruction in 8085
microprocessor is 4.

Reason (R) : Memory cycle defines number of times accessing the memory.

In the light of the above statements. choose the correct answer from the options given below:

[y

. Both (A) and (R) are true and (R) is the correct explanation of (A)

2

. Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

[F5]

. (A) 1s true but (R) is false

=

. (A) 15 false but (R) is true

Options :

68634012693. 1
68634012694. 2
68634012695. 3
68634012696. 4

Question Number : 74 Question Id : 6863403206 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634012693. 1
68634012694. 2
68634012695. 3
68634012696. 4

Question Number : 75 Question Id : 6863403207 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following 8085 hardware interrupts in increasing order of priority.

A TRAP
B.RS5T 6.5
C.RST 7.5
D.INTR
E.RST 5.5

Choose the correct answer from the options given below:

1.A,€.B.ED
2.C.B,E.A,D
3.6 BB DA
4 D.E.B.C.A

Options :

68634012697. 1

68634012698. 2

68634012699. 3
68634012700. 4



Question Number : 75 Question Id : 6863403207 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=14 f3U U 8085 SIS AR TR &I SRIAT (WUEEHN) & RiE! HH & ayafyd $Hife -

A TRAP
B.RST 6.5
C.RST 7.5
D.INTR
E.RST 5.5

- fau 7T famedl © 9§ T8l 3R &1 99 Bifod

LLAC B ED

| ]

C,B,E.A. D
3.CCB.EDA
4.D.E.B.C.A

Options :

68634012697. 1
68634012698. 2
68634012699. 3
68634012700. 4

Question Number : 76 Question Id : 6863403208 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The correct sequence of operation of microprocessor is:

A. Memory read

B. /O read

C. Opcode fetch

D. I/O write

E. Memory write

Choose the correct answer from the options given below:

LA E-B D &

| )

.C.A,E.B.D
3.C,B,D.AE
4.B.D.AE.C

Options :

68634012701. 1

68634012702. 2
68634012703. 3



68634012704. 4

Question Number : 76 Question Id : 6863403208 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TSR & W PI SEd HHE :
A TERT (F0) T8 (@e)

B. /0 ¥S (U
C. ATHIE T

= fau U f[daredl § O 981 3Tk &1 944 Dilor -

LAEBDC

b2

CLAE B, D
3.C.B.D.A.E
4. B. DA EC

Options :

68634012701. 1
68634012702. 2
68634012703. 3
68634012704. 4

Question Number : 77 Question Id : 6863403209 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : 8085 microprocessor has 16-bit of address lines and 8-bit of data lines.

Statement IT : None of the flags will be affected after the execution of INX H instruction. In the light of the
above statements, choose the most appropriate answer from the options given below:

In the light of the above statements. choose the correct answer from the options given below
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement I is false

4. Statement I 15 false but Statement II 1s true

Options :
68634012705. 1
68634012706. 2



68634012707. 3
68634012708. 4

Question Number : 77 Question Id : 6863403209 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT : 8085 HIBH YR I, 16-f9¢ &1 ToY (g a3 3R s-fac @l Srerag-gdi @ |
FYFI1: INX H 39 & Fsare9 & a1g, &l vl win waifad sgi giai g |

SWRIad HY & 31l H, {2 AU 71U fasedl § 3 968 Sugad 3R &l 99 DI

L. P AR PUT IS I T

2. HYF 1 AR PYT I ST 3 ©
3. PYTL 9T 6. AfbT BT 11 3T ©

4. PYT] A . APTIPYT I T ©

Options :

68634012705. 1
68634012706. 2
68634012707. 3
68634012708. 4

Question Number : 78 Question Id : 6863403210 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is/are hardware interrupts:

A RSTA45
B.R5T7
C.RSTG6
D.INTR
E.RST S5

Choose the correct answer from the options given below:
1. B and C only
2.B. C and E only
3. Aand D only
4. A only
Options :

68634012709. 1
68634012710. 2



68634012711. 3
68634012712. 4

Question Number : 78 Question Id : 6863403210 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FaftfRa T Ao T sedm iR 6 2

A RST4.5
B.BRST7
C.R5T6
D.INTR
E.RSTS5

e fau e famedt & 9 Hel SR &1 90 Difed
1. Had B R C
2.%adB.CHR E
3.%ad ASIR D
4. PId A

Options :

68634012709. 1
68634012710. 2
68634012711. 3
68634012712. 4

Question Number : 79 Question Id : 6863403211 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

1ISTI LISTII
A EOWM (Read Write I Stored data will not permanently
" lmemory) " stored
B D}-‘t_mmic memory 1 LA memory that can be read or
" |device " pwritten with equal ease

Once electric power 1s switch off,
C_ |Static memory deviee  |1I1JAll Stored information in
memory will be lost

S . - I5tored data will r i
D. [Volatile memory device [TV |7 o -0 Gata Wit remain
> permanently stored

Choose the correct answer from the options given below:

1. A-II. B-I. C-IV. D-III

[ ]

. A-IIL B-IIILL, C-1. D-IV
3. A-L. B-II. C-IV, D-III
4. A-IIT, B-IV. C-1. D-II

Options :

68634012713. 1
68634012714. 2
68634012715. 3
68634012716. 4

Question Number : 79 Question Id : 6863403211 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 ¥ [ Sifor

T 1 | Tt 11 |
A RWM (SRS #A1) L :@i-m% STET I 0 3 WG
B. [rfad 8 gfad IL. m@ﬁ%%mmﬁﬁﬁ
ﬂ 1 Fagd 41 ¢ &l 5l &
C. [Sfde FHRI gl L. ﬁﬂjﬁ%ﬁﬂu%n wl g<w
g
. aiareTz o (armgeie) JHR] i Cufed ST gHT ®IE EU Y
g B SR
Fafafad fdemed & T 981 SR &1 994 iy ;

1. A-II. B-I. C-IV, D-III
2. AL B-III, C-1. D-IV
3. A-L B-II, C-IV, D-III
4. A-III. B-IV. C-1. D-II

Options :

68634012713. 1
68634012714. 2
68634012715. 3
68634012716. 4

Question Number : 80 Question Id : 6863403212 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Scanning tunneling microscopy (STM) is based on the quantum mechanical tunneling. The probability of
tunneling of an electron across a gap L is proportional to:

L
e

l.e_l‘

Options :

68634012717. 1
68634012718. 2
68634012719. 3
68634012720. 4



Question Number : 80 Question Id : 6863403212 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B0 G- YEHGAT (STM) . HicH TS I ARG 8 | U6 sadeE & G0 o1 T,
0% faeR L& SRR feg vaR Rk axdi g 2

L
e

2 e_L

Options :

68634012717. 1
68634012718. 2
68634012719. 3
68634012720. 4

Question Number : 81 Question Id : 6863403213 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Single electron transistor works on:

1. Coulumb's blockade effect

| B

. Kondo effect
3. Handau's effect
4, Kastner effect

Options :

68634012721. 1
68634012722. 2
68634012723. 3
68634012724. 4

Question Number : 81 Question Id : 6863403213 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U5 d SaacH gifores [ IR &1 ST 6 2

1. Pl ([hs) SH YU
A RG]
BT UHTd

4, PR UHIG

| )

L

Options :

68634012721. 1
68634012722. 2
68634012723. 3
68634012724. 4

Question Number : 82 Question Id : 6863403214 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The lithography that offers highest resolution patterning 1s

1. UV lithography

| )

. Lon beam lithography

Lad

. X-ray lithography
4. Electron beam lithography

Options :

68634012725. 1
68634012726. 2
68634012727. 3
68634012728. 4

Question Number : 82 Question Id : 6863403214 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3129 (ferdhy o1 it S=gaw Ao e s FRaI g a8 | -

1. UV 3/RH g0l

| )

. 1T fepvor g 3=m ggu
3. X-fd2ur 3=H ggur
4. goaCH fpvor Uo 3=0 5o

Options :



68634012725. 1
68634012726. 2
68634012727. 3
68634012728. 4

Question Number : 83 Question Id : 6863403215 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Nano-identation 1s used for the analysis of:

1. Thermal Properties of nanomaterials

[

. Optical Properties of nanomaterials
3. Magnetic Properties of nanomaterials
4. Mechanical Properties of nanomaterials
Options :
68634012729. 1
68634012730. 2

68634012731. 3
68634012732. 4

Question Number : 83 Question Id : 6863403215 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 3TgSeN fovg & fa=meryur & forg warT gidn & 2
1. =1 gagdf ot ardiy fagvard @qoi-ed)
1 Terdf @ HeeTRitg faRivany
AT gl Bt g [GRvan
A el ot gifae faSvary

| )

[#%]

=

Options :

68634012729. 1
68634012730. 2
68634012731. 3
68634012732. 4

Question Number : 84 Question Id : 6863403216 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following nano scale synthesis process does not lie in the category of bottom-up approach?

1. Physical vapour deposition

| B

. Plasma enhaced CVD

LF¥]

. High pressure torsion
4. Chemical self assembly

Options :

68634012733. 1

68634012734. 2

68634012735. 3
68634012736. 4

Question Number : 84 Question Id : 6863403216 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FaAfeEad o O o1 91 - SRV Wb, Tell Sfekdd SUnTH &1 4ufl T g o 2
1. Wi ars e
. TATSH 6% (CVD)
. 3= g« fadie (Ua)

4, IGAHAF WG G ad

| ]

L

Options :

68634012733. 1
68634012734. 2
68634012735. 3
68634012736. 4

Question Number : 85 Question Id : 6863403217 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
In the ballistic regime of heat transport. the heat flux is proportional to:
1. Square of temperature
2. First power of temperature
3. Third power of temperature

4. fourth power of temperature

Options :
68634012737. 1



68634012738. 2
68634012739. 3
68634012740. 4

Question Number : 85 Question Id : 6863403217 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 ST IR0 &1 Wéte e (gawn 8, IHfgud Ak sars .

1. 99 & a4 01

. dT9HH &1 WYH o1d
. dT9H 61 g ord
AT9qH B I e

[ ]

L]

=Y

Options :

68634012737. 1
68634012738. 2
68634012739. 3
68634012740. 4

Question Number : 86 Question Id : 6863403218 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Grant magnetic resistance phenomenons refers to:

1. Decrease in electrical resistance when materials are exposed to magnetic field.
2. Increase in electrical resistance when materials are exposed to magnetic field.
3. Increase in thermal resistance when materials are exposed to magnetic field.
4. Decrease in thermal resistance when materials are exposed to magnetic field.

Options :

68634012741. 1

68634012742. 2

68634012743. 3
68634012744. 4

Question Number : 86 Question Id : 6863403218 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ged Fra@ g uioRiy aRee g & Fefd g o
1. T e & i & Y SFTaRe T S & d S fage vkl B e € @
2. TS YT P T A @ ST e ST & 6 9 g wReR A 9 B
3. 919 TSIl 1 JrEa &7 ¥ oFTaRd fbar S @ df 5o andi wiekiy H gfE Sl & |
4. 519 UETYl B TEHIT &7 W SFENR 9501 S1a1 ¢ @ 37 ardig uioriy ¥ il g1l § |

Options :

68634012741. 1
68634012742.2
68634012743. 3
68634012744. 4

Question Number : 87 Question Id : 6863403219 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A) : Photonic erystals allow or disallow the propagation of certain wavelengths depending upon
their photonic band gaps.

Reason (R) : Photonic crystals are composed of periodic dielectric, matallodiclectric or even superconductor
nanostructures that affect the electron magnetic wave propagation in the same way that the periodic potential
in semiconductors affects the propagation of electrons.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
3. (A) 1s correct but (R) 1s not correct
4. (A) 15 not correct but (R) 1s correct

Options :

68634012745. 1

68634012746. 2

68634012747. 3
68634012748. 4

Question Number : 87 Question Id : 6863403219 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR I FYET TP AT (A) FEUH IR0 S T R SUS FRUR) FFIH -

ATUBYT (A) : BISH! red $o TS B o1 & Y AT ST S a1 761 ST € T8 S WieH
5 rRA R R Har e |

BRI (R) : BlcH! e, Sfadl IRIdegd. YIq IRIdedd 1 S(faarae® -+ S¥=-1 & &4 §1d §. ol [9g4q
WWW@B@WWH%W%@%MEW SefaTa®! 4 sdaeH & SRl &I B

SRIGd YA & AP 1, [ S0 U [dbedl § U ol 392 &1 994 DI
1. ARREM AT AR R A DI U5 AR ©

A SR R &I U § dfdhT R, A B Ul AR 5l &

ATIE. PR AT

A 3T g, APTR I T

b2

Lag

=

Options :

68634012745. 1
68634012746. 2
68634012747. 3
68634012748. 4

Question Number : 88 Question Id : 6863403220 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The correct sequence of steps of chemical Vapour Deposition (CVD) process in:

A. Heterogeneous surface reaction catalayzed by the surface.
B. Nucleation and growth of the film.

C. Adsorption of the species on the surface.

D. Transport of reacting gaseous species to the surface

E. Surface diffusion of the species to the growth sites.

Choose the correct answer from the options given below:
1L.BDEATF.RB
2.A,C,D,E.B
3.B.A, DB, C

4. C.ADE.B

Options :

68634012749. 1
68634012750. 2
68634012751. 3
68634012752. 4



Question Number : 88 Question Id : 6863403220 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IS 9 AT U H S SRa s g 2

A. a8 gRI Ioiid fauaitt sty sifufear

B. A& 3R fihed &1 fawrg

C. Ude YR Uollidal &1 Sffe=iyuy

D. Afifrar wite Hfim yenfadl &1 9ds 9 ulag
E. YRIadl &1 [dHr el R Ide! [a9u

4 fau 7T famedl © 9§ T8l 3R &1 99 Bifod

1.BC.AEB

2.A.C.DEB
3B_A.D,E.C
4. C.A.D.E.B

Options :

68634012749. 1
68634012750. 2
68634012751. 3
68634012752. 4

Question Number : 89 Question Id : 6863403221 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : Spin value has a layered structure of thin films of magnetic materials which leads to the
variation of electrical resistance which change in the direction of applied magnetic field.

Statement IT : The electrical resistance of a spin device is highest when the free layer and the pinned layer
magnetization vectors are alligned and decreases when the free layer magnetization vectors rotates anti parallel
to the pinned layer magnetization vector.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

[

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement II 1s correct

Options :
68634012753. 1



68634012754. 2
68634012755.3
68634012756. 4

Question Number : 89 Question Id : 6863403221 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFagisyfRRume -

®YA I UHhUl A S U Frasb g ggryl &1 floed &1 URdl W= gl © [ordeh SRl fagyd ufckiy o
qRac gidl & off @7 38 gradbiy &4 $ fa=n § uRady Sad ordi g ]

HYA I1: U Y@l Jidd o1, faegq Wioriy ftead sidT & o/d Gad Ud iR 109 $1 715 IRd & @[
e FAEg B1d § 3iR 98 &4 81 5T § ofd Jod URd 91 Fiag], U1 &1 718, WRd & 9ed 1 Jiagl
& SRR 90 BRI § |

ORI BY & il 1, 9 fU U fasedi & 9 9a9 ugdd 3R &1 99+ SIfuT:

1. PYI AR SYF 11 a1 9 &

HYT IR BYT IS T &

[

HYF1 I ¢, afted HUF 11 3T ©

[¥5]

4. BYT] T L. AP FY NI ©

Options :

686340127531
68634012754.2
68634012755. 3
68634012756. 4

Question Number : 90 Question Id : 6863403222 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The aspects of erystallites information which can be investigated being Scanning Electron Microscopy (SEM)
are:

A. Topography

B. Morphology

C. Composition

D. Crystallographic information
E. Mechanical properties

Choose the correct answer from the options given below:

1. A.B. C only

[ ]

.A.B.C.E only
3.A.B.C.Donly
4.B, C. E only

Options :

68634012757. 1

68634012758. 2

68634012759. 3
68634012760. 4

Question Number : 90 Question Id : 6863403222 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fpecd &1 ga1 & FafcRad 4 3 ®1F 3 usll 31 oiid oy digul saaci- Jeresil & warT 3 gidl
A. RYTITpfd
B. 3 idfdz

C. e
D. ftediia gam
E. FitAd [g2Nany

e fau e fawedt & 3 Hel SR &1 90 Difed
1.9dd A, B.C
2.%dd A,B.C.E
3.@dd A.B.C.D
4.%dd B.C.E

Options :

68634012757. 1
68634012758.2
68634012759. 3
68634012760. 4



Question Number : 91 Question Id : 6863403223 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST IT
A |[X-ray Diffraction I. |Band gap
B. |Atomic Force Microscopy IL Pa—
Troups
C. [UV-Visible Spectroscopy 1. |Crystal Structure
D. EDun&r - Traj_lstonn Infrared B Moty
Spectroscopy

Choose the correct answer from the options given below:
1. A-I. B-II. C-II1, D-IV
2. A-IIL B-IV. C-I1. D-1
3. A-IIT. B-IV. C-1. D-II
4. A-I11. B-1. C-II. D-IV

Options :

68634012761. 1
68634012762. 2
68634012763. 3
68634012764. 4

Question Number : 91 Question Id : 6863403223 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o

gl 1 1 Yl 1 ¥ e Sifore

T I T 1T
A [x-Txur fagaH L [d3 sFR1d
B. [0R|M0] 5¢ aHcEiol | 1L [gerEes 998
C. [uv- g waefih | 1 (e SR
o, [F Iﬁzé TS |y EICAGAGRIC]
frafaad fdeddl & I 98 IR &1 98- DI

1. A-I. B-II, C-III. D-IV

2. A-IIL B-IV. C-II. D-1

3. A-IIT. B-IV. C-1. D-II

4. A-III. B-1. C-II. D-IV



Options :

68634012761. 1
68634012762. 2
68634012763. 3
68634012764. 4

Question Number : 92 Question Id : 6863403224 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Potentrometric sensor is a type of:

1. Physical sensor

2

. Chemical sensor

LFS]

. Neuromorphic sensor
4, Proximity sensor

Options :

68634012765. 1
68634012766. 2
68634012767. 3
68634012768. 4

Question Number : 92 Question Id : 6863403224 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
favanTdiy daew [P PTURET € 2

1. Hifd® Tdg®

P Fdad

i3 P fid Jdad
4, g gdadh

Options :

68634012765. 1

68634012766. 2

68634012767. 3
68634012768. 4

| )

L

Question Number : 93 Question Id : 6863403225 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In electrochemical cell. in which electron reaction occurs :

1. Counter electrode

| B

. Working electrode
3. Reference electrode
4. Auxiliary electrode

Options :

68634012769. 1
68634012770. 2
68634012771. 3
68634012772. 4

Question Number : 93 Question Id : 6863403225 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
feqge Y Ia d sififsar 6y sadgis )R el o -

PR (V) TS

DRI TR

Options :

68634012769. 1
68634012770. 2
68634012771. 3
68634012772. 4
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Question Number : 94 Question Id : 6863403226 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A device that converts one from of energy into another:

1. Decoder

(B

. Encoder
3. Transducer
4. Multiplexer

Options :
68634012773. 1



68634012774. 2
68634012775.3
68634012776. 4

Question Number : 94 Question Id : 6863403226 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634012773. 1
68634012774. 2
68634012775. 3
68634012776. 4

[ ]

L]

Question Number : 95 Question Id : 6863403227 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Magnetostructure materials are special type of actuator which:

1. Expand or shrink on the application of magnetic field
2. Change their temperature on the application of magnetic field
3. Change their erystal structure on the application of magnetic field
4, Change their colour on the application of magnetic ficld

Options :

68634012777. 1

68634012778. 2

68634012779. 3
68634012780. 4

Question Number : 95 Question Id : 6863403227 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634012777. 1
68634012778. 2
68634012779. 3
68634012780. 4

Question Number : 96 Question Id : 6863403228 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
In sensor terminology 'sensitivity' is defined as:
1. Ratio of change in input signal to the change in output signal.
2. Ratio of change in output signal to the change in input signal.
3. Product of change in input signal and change in output signal.
4. Sum of change in input signal and change in output signal.
Options :
68634012781. 1
68634012782. 2

68634012783. 3
68634012784. 4

Question Number : 96 Question Id : 6863403228 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634012781. 1
68634012782. 2
68634012783. 3
68634012784. 4

Question Number : 97 Question Id : 6863403229 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The measures of sensor's ability to produce an output indicative of changes in input parameters independent of
increase or decrease of mput is called:

[

. Repeatability

| )

. Selectivity
3. Hysteresis
4. Sensitivity

Options :

68634012785. 1
68634012786. 2
68634012787. 3
68634012788. 4

Question Number : 97 Question Id : 6863403229 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634012785. 1

68634012786. 2

68634012787. 3
68634012788. 4

| )

[#5]

Question Number : 98 Question Id : 6863403230 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the typical steps of surface Micro machining in order:

A. Deposition of a structured layer

B. Deposition of a sacrificed layer

C. Substrate preparation

D. Shape definition by patterning and etching of the structured layer followed by release of suspended
structure.

E. Creation of a hole by patterning and etching of the sacrificed layer.

Choose the correct answer from the options given below:
1.C.D.A B, E
2.C,B.E.AD
3.C,A.B.E.D

4 A B.E.C,D

Options :

68634012789. 1
68634012790. 2
68634012791. 3
68634012792. 4

Question Number : 98 Question Id : 6863403230 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.CDABE

2.C.B.EAD
3.C,A.B.E.D
4. AB.ECD

Options :

68634012789. 1
68634012790. 2
68634012791. 3
68634012792. 4



Question Number : 99 Question Id : 6863403231 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following not chemical sensor.

A. Chemiresistor

B. Non disperssive infra red sensor
C. Hall probe sensor

D. Hygrometer

E. Holographic sensor

Choose the correct answer from the options given below:

1. A C.E only

| )

.A.B. Conly
3.Cand D only
4. C, E only
Options :
68634012793. 1
68634012794. 2

68634012795. 3
68634012796. 4

Question Number : 99 Question Id : 6863403231 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634012793. 1



68634012794. 2
68634012795. 3
68634012796. 4

Question Number : 100 Question Id : 6863403232 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST II
A |kt I Ratm of change 1n output to change in
g input.
B. |[Sensitivity II. |Ability to maintain performance over time.
¢ |zero 1L Z\J'Ia'_rhemancal steps applied to mput
variable for desired output.
D. [Stability IV, PVlinimum value of output signal.

Choose the correct answer from the options given below:

1. A-II. B-I. C-IV, D-ITI
2. A-L B-II. C-IV. D-III
3. A-L. B-I11. C-II. D-IV
4. A-III B-1. C-IV. D-II

Options :

68634012797. 1

68634012798. 2

68634012799. 3
68634012800. 4

Question Number : 100 Question Id : 6863403232 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-II. B-1. C-IV. D-III
2. A-L B-II. C-IV, D-III
3. A-I. B-TII. C-II. D-IV
4, A-IIL. B-I. C-IV, D-II

Options :

68634012797. 1

68634012798. 2

68634012799. 3
68634012800. 4



